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1. a I Mii--t1t4!j{'J 1}~~:lR.Jt ' r 9'1~*~~.lJlJ-&'*M~~* ? 

(A)ttJ-* (B)tIl~1!~J.* (C)~+l1!~J.* (D)JJL-itim.-t* 

2. )~j.L1} ~ IIiJli !it A t{i, 9'1 ~ j{lJ ' 1} ~ ~ 7 11 30 a ~ ~F ....fij4t1#fIT .If lJlJ ~1fJUilf ' ~F i~ ~ , 
~F1ft 8 11 3 a ~~ ... , 311ft 8 Yl 10 a~*.t.*~~~#ik~1ft ' 1}a]1ft 8 J1 14 a !it 
flJ Jl~ ~~ , itM1} a] "'1ft~ *t{i, 9'1 !itA e ~.iJll~JJ- ? (A) 7 J1 30 a (B) 8 J1 3 a (C) 8 J1 10 
a (D)8 J1 14 a 

3 . 	.iE 't••~1lf.lJlJ+lF ~.tt : 

(A)Jf A. ' .. maJlt* (B)Jf A. ' J/tAa ~ 1. 
(C)Jf A. ' Jlt~tla .. m (D) !itA , ~ 1l.hlJlt* 

4. 	 ;k~1} ~ Xl if-JlJ3*.:f-f- Ji'1l\1i ' ~~1t Xl if-;t.M~~*ltJ£~~f&. ? 

W*~~~ ~••J£*~~ ~.m••~~ ~~1l~~ 
5. 	 • t.l( t 4 911A r 91JJJ~ - J1t ? 

(A). it J£* (B) *.91' t m (C). t !itA~J1t (D)f-. t m 

6. ~.p)j£$200,000' #;t,*J~f-f 3/10,2/20, n/30' 10 ~Pi.t.#-.f#.J1t 0 Jt..#.J1t1ft~ 22 "­
.t.# ' # .t.1f ~ ~ JJL-it ? 

(A)$200,000 (B)$197,000 (C)$195,000 (D)$198,000 

7.;{f.$m~~4r'.~*m~*'4~r~~J1t-t~•• ? 

(A»)ttc.~ff##' (B»)ttc.~J1t it m (C»)ttc.$}ij ~ (D»)"f:1~1!-~ 

8.~r~*~~.tt1ft.A~~*trJJL~JJ1tr: 

(A)~ * (B)~P 1b~# (C)1t1l-&'-it t ~;{f#. {D)ttpJlJ3.t.* 

9. 	 '1}~.$}ij~~4'.~$m-it.t.#~."'Jf*'.~r~~-.1!-~? 

(A)1lftc.~ji.* Jf (B»)ttc.$ m~ (C»)ttc.JJL-it (D»)"f:1~ 1!-~ 

10. 	;{f. r 9IJl9Jltll:j:. a -r ' "tc.,toJt~Jlt~tl~~~? 

(A)'§.% a I!~~ a (B)1t-tc. a I!-ft-tt a (C)~% a ' 1}tc. a ~-ft-tt a (D)i:% a ~1}tc. a 
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11. • i' .:b;fU.1(.A 1. ' k Ib ~ : 


(A).f ~ it m 'J'~*;ftl (B)~ i iJtA,k~.f ~ it m 


12. Songbird ~ aJ ~~ i iJtA $150,000';fn"iif *~~ t itl£J£*~ $135,000' 1Fl:kn~~ aJ .1(..:b;flj. Jt. 

30% ' ..(f..:b;f~*T-ftit.1(.M*#i' J£*k : 

(A)$15,000 (B)$30,000 (C)$45,000 (D)$75,000 

13. 	1'F,~+l7t-~;fnl!+l1i ' T 1'j~-~+lP BlJ-titfAJt.~ : 

(A)~llfqtA (B)ffl £ (C)fJ{1t1*Flt. (D)lit#tf -ltll 

14. 	 T 11J1iJ;if;r: Jt. "it-1Jl Jt BlJ ~ -t- ffi" Jft1 ? 

(A)1'F .tt+l1}~;fn l!+l (B)~ tl Jij"~:ta.* (C)1'F 3t ~ 1)~ (D).tM, tl.:r..1'F Jl~ 

15. l!+l: (A)il 't~1}~.1(.Rtl~1. (BH~JM-1}~1*.1(.3t ~ .*4#~A a lr.. (C)~lr.~.Jt t"iif 

••~~. ~•• ae.1}••~A~.+l~+lP.1(..Jt 

16. Jefferson ~aJ~ 20141f-l ~ 1 a J( 1-1f1i1l 0 1i1lJ£~ HK$600,OOO ' ~ffl1f-Fl81f- ' .~* 

*-ftit1l11 HK$80,000 ' ~m -m-it-titfAj&ld~iid;t1Ij#lf ' 1t rg, 2015 1f-lt#lf it m ~ : 

(A)HK$65,000 (B)HK$112,500 (C)HK$150,000 (D)HK$65,620 

17. 	..(f.Jij".;f1UJf.* 'f ' Jf.itJN:J£~ll Ib10J 14}~~? 

(A) it m (B)qtA (C);fl ~~fA (D) ~ it 

18. 	1ttfLl1}tJt* ' #If it m BlJA.**fAil 't~ : 

(A)~i'*fA (B)%r-1f-ltBlJ#litm (C)~i.:b;f~ (D);r:fhA '.~'&'1i1l 

19. 	Maggie Sharrer ~aJl£ 20141f- 9 Ji 1 a .Ib-l-~-m.$88, 500 ,12% ' -1f-BlJ#.tt,f;J Sandwich 
.ff1lAA.$88, 500 0 it rg, 20141f- 12 Ji 31 a BlJllit;flj .t~ ~ Y ? 

(A) $2,655 (B) $3,540 (C) $4,425 (D) $10,620 

20.••5C.Jl.m 112*11 : 

(A)1ilr.5C.Jl.m 112. m ;fn'ilr.JJi* (B)1ilr.5C.~m £ t m;fn'ilr.x.~ffl £ 
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( 12%) =- ' 
Compute accounts receivable turnover and average collection period. 

Lashkova Company had accounts receivable of $100,000 on January 1, 2014. The only 
transactions that affected accounts receivable during 2014 were net credit sales of 
$1,125,000, cash collections of $980,000, and accounts written off of $95,000. One year 
equals to 360 days. 
Instructions 

(a) Compute the ending balance of accounts receivable. (6% 
) 

(b) Compute the accounts receivable turnover ratio for 2014. (4% 
) 

(c) Compute the average collection period in days. (2% 
) 

( 80/0 );. .. 

The S Company purchased a machine on November 1, 2003, for $148,000. The machine was 

estimated to have a useful life of 10 years and a salvage value of $4,000. S recorded depreciation 

using the straight-line method. On July 1, 2012, the machine was sold for $13,000. What should be 

the loss recognized from the sale of the machine? 

( 5% )m;J .. Chang's Super Market had the following transactions during 2017: 

1. Issued $65,000 of par value ordinary shares for cash. 

2. Repaid a 6 year note payable in the amount of $39,000. 

3. Acquired land by issuing ordinary shares of par value $150,000. 

4. Declared and paid a cash dividend of $4,000. 

5. Sold a non-current investment (cost $68,000) for cash of $9,000. 

6. Acquired an investment in Microsoft shares for cash of $38,000. 


What is the net cash provided by financing activities? 


( 10% )1i. .. 

( 1) Silas Corporation had net income of $200,000 and paid dividends to ordinary shareholders of 

$40,000 in 2014. The weighted average number of shares outstanding in 2014 was 50,000 shares. 

Silas Corporation's ordinary shares are selling for $50 per share on the New York Sto4tk Exchange. 

What is Silas Corporation's price-earnings ratio? 
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(2) Silas Corporation had net income of $200,000 and paid dividends to ordinary shareholders of 

$40,000 in 2014. The weighted average number of shares outstanding in 2014 was 50,000 shares. 

Silas Corporation's ordinary shares are selling for $50 per share on the New York Stock Exchange. 

What is Silas Corporation's payout ratio for 2014? 

(5%)~ , 


T 11J ~ Ni"tr 1} 6] 7 ~ 31 a ~ l11t 0 'f!l1IJ.ff # tk~n J.; $655,710 ' .ff Jt ... ~~n Jttl J.; 

$653,900 it1fqi.-i-~ 7 ~ 31 a ~#~$15,300 .ffrll*-A1'l ' .IT1~Jlt-t~ 1$550 1}6] rll*­
0 

Afl ' 1}6] r~ m~-t.#-rll~$14,130 *-jt~ , 1}6] -t.#ltt~i.~$2,320 1}6]1'lJ:.l.ltG~$2,230 0 

~M'7~ 31 a£~~.ff#tk~~~~Y? 
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